
Adam Pumps spa
via della Resistenza 46/48
41011 Campogalliano (MO) - ITALIAY

tel. +39 059 528 128
fax +39 059 528 437
info@adampumps.com

PA2 80
MADE IN  ITALY

elettropompa diesel

categoria modello

POS.  DESCRIZIONE CODICE QTÀ
1 statore  avvolto mec 71 64100000000 1
2 guarnizione fv 63/71-2 10501000000 1
3 portacondens.  140250100000 1
4 vite autof. t.c.c ø3,5  x 16 vt004 10
5 blocca cavo  140250300000 1
6 rondella grower ø4 znb 80301400000 1
7 vite t.c.c. m4 x 8  82301410100 1
8 interruttore 22 x 30  190050210000 1
9 coprifaston 6,3  190110000000 6
10 guarnizione fkl 71  10502000000 1
11 cuscinetto 6202 2rs 101001700000 1
12 cuscinetto 6204 2rs 101001880000 1
13 albero mec71 62901700000 1
14 anello di compensazione 84505000000 1
15 scudo lavorato mec 71 15502600000x 1
16 tirante m5 x 135  znb 6100450000z 4
17 ventola mec 71 + anello ø14 140260400000 1
18 copriventola mec 71 140260500000 1
19 chiavetta 6 x 6 x 20  90505050000 1
20 condensatore  190061000000  1
21 cavo elettrico nero  190200000000 1
22 valvola by pass 71000520 1
23 corpo pompa 80l  1” bsp/g  71000060 1
24 molla by pass 16001005 1
25 piattello 71000521 1
26 or 3118 nbr  18001008 1
27 tappo 1”  17001094 1
28 filtro inox grande 41410000 1
29 targhetta “filter” 71000587 1
30 targhetta “pulizia filtro” 71000546 1
31 or 85 x 3 nbr 18001022 1
32 anello di tenuta 20307  12001015020 1
33 girante ø72 61000010 1
34 paletta grande 71000569 7
35 disco grande  71000063 1
36 vite t.c.e.i. m5 x 16  13001007 4
37 tappo salva filetto ø31 163013500000 2
38 etichetta “danger” 71000653 1
39 etichetta “ce” - 1


